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Finding Midpoint Based on Coordinates

Name:

Find the midpoint of the set of coordinates.

Answers

O

L

and (8,1), plug the values into the midpoint
formula

4+8 5+1
2 , 2

4 Midpoint Formula
( 'epol ) The midpoint is at (6
X1+X Y1ty A
2 , 2
To find the midpoint of the coordinates (4,5)

|
3

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

(0,4)&(0,1)

(0,0)&(4,7)

(9,5)&(1,9)

(3,10)& (2,4)

(7,2)&(3,8)

(5,9)&(0,9)

(10,0)& (1,0)

(4,7)&(8,3)

(9,5)&(4,1)

(10,7)& (0, 3)

(2,1)&(10,3)

(3,0)&(1,1)

10.

11

12.
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ﬂh Finding Midpoint Based on Coordinates Name: Answer Key

Find the midpoint of the set of coor dinates. Answers
/ Midpoint Formula o \
A i T‘r:emldp0|nt|sat(6,3). L (012.5)
2 ., 2
To find the midpoint of the coordinates (4,5) 2. (2,3.9)
? and (8,1), plug the values into the midpoint S
formula. (631 3 5,7)
11, 4+8  5+1 o
& 2 ., 2 y 4 (25,7)
Y (0.4)&(0,1) 020,4;1) = (0,25) 5. _ (5,9
, 25,9
2 (0,0)&(4,7) 0;4,027) = (2,35) & )
(5.5, 0)
D 5 518 (10 9+15+9 y _ . "
(9.5)&(1,9) (——— ) = 6.7 . 6.5
4) 3+2 10+4 ~
(3,10)&(2,4) S, ) = @5.7) o (65,3
> (7.2 (3.8) 7;3,2;8) = (5,5 o_ (5,9
1. (6,2
% (5.9)2(0.9) 5;0,9;9) - (25,9
12. (2,0.5)
0 (10,0)& (1,0) (10;1,020 ) = (55,0)
8) 4+8 7+3 B
(4,7)&(8,3) > ) = (6,5)
Y (9,578 (4.1 9+4 5%y _ 65,3
(9.5)&(4,1) (——— ) = (65.9
10 (10,7)& (0, 3) (10;0,7;3) = (5,5)
11) (2.1)2 (10.3) (2+210,1;3) _ 6.2
12) 3+1 0+1 ~
(3,0)&(1,1) TT) = (2,05)
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